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Time Allotted: 2 Hours Full Marks: 50

The figures in the murgin indicate full marks.
Candidates are required (o give their answers in thelr own words as far as practicable,
Al symbols are of uswal significance,

Groop-A
Taem-=
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I.  Answerany five questions from the following: 2x5= 10
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{a) What is “Price discrimination’?
W PRSI S a0
o fadeor sqa % 8
(b) What do you mean by ‘Product differentiation’?
‘sdige ¥y = oy o
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(¢) Define ‘gross profit’ and ‘net profit’.
4G MR 8 S YTERE e 6
T AT YR TS B aftum ey
{d].l What is ‘quasi-rent’?
‘ER-EE TS T
‘Quasi—FEmT F@ & €17
(¢} Mention two features of a perfectly competitive market.
i el S 1ib tafE o )
oot R S gEae RS SHeE |
(f) Define VMP of a factor,
i) TAMTT VMP 210 4091 ¢
TR VMP @1 uferm e |

(2) Define Monopoly Market,
s e U] WS |

T asTRe] R SRR |
(h) What is the relation between AR and MR under perfict competition?
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Group-B
faemq
qE-E

Answer any fwo questions from the following 102 =20
R @ §fe =ees Tee e

Explain the main features of a perfectly competitive market. Show 5+5
graphically the short-run equilibrium of a firm under perfect competition.
wite efdcriiemes w3 e e s o afanfemn
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Explain ‘risk tnking and uncertainty bearing theory of profit. 10
T G a7 6 WloTe] IE ©F SEhAl 0|
TRl wiNe Hf sfsreaeT gy s e |

Explain in brief the Ricardian theory of rent. 10
RO e e eyl wEse SEn

Nasiar s Ryemoar wEo avfa e |

Expluin graphically the short-run equilibrium of a firm under monopoly. 10
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Group-C
fasp-a

HHE-TT

Answer any one question from the following. 201 =20
FufERe g el 2o Te2 ve
T gE AT SR SRR

6. Explain critically the Marginal Productivity Theory of Distribution. 20

i £ How the eguilibrium rate of interest is determined by the Liquidity 20
Preference Theory of Interest”— Explain.
‘wowm o oW wred W SR erminy o W il g e
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The figures in the margin indicate full marks.
Candidates are required to give thelr answers in their own wards as far as practicable.

Group-A
e
HE-
I. Answer any five questions from the followmng: 2=5=10
frsffe c-cofe #iblo =ivem Tea w6l
(1) What do you miean by *open market operation’?
(PTIRTSIA W s e i ¢
GEET YR T T e
(b) What is “inflationary gap'?
‘gurEfeT o1 ST = ¢
ErREfaE! arae B 87
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(c) Give two examples of direct tax.
e BCad {0 Sl WS
wans wem gac] sane e |
(d) Whatis meant by impact and incidence of taxation?
AT & FARIG e 1% @A e
WY TET ¥ WY wmE A o afEee?
(¢) What is balance of trade?
aifter Ty e v
MR TRET © B
(f) Give one example of visible import and invisible import,
w6 e wnfen 9% SO THEe we
Teg ¥ HEI AT Th-YE Seer R |
(2) What is inflation?
e e
wErehifE % 67
(h) Distinguish between quantitative and qualitative credit control measures,
siffeiee @ adsks wefmad clEfea W v < E)
T ¥ AREETeE T e e W R SEraqeTy |

Group-B

e

WE-"
Answer any pwe questions from the following 10x2 =20

forsiefEre el §f6 eior B e
& g€ UETHl IR oY
2. Discuss the advantages and disadvantages of indirect tax. 10
AP FAE Fedl ¢ THEYISTE] Sl S|
SR DT S ¥ wAr w1 e |
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Discuss briefly the direct and indirect burden of internal debt. 10
wyEpede W L 6 WIS QRIS T WEhA B
STtE w0 eds ¥ oW WX WY S e |

Discuss the functions of central bank, 10
el FEs Treel wEna a |
a0 ATEmE] TIaEs Tu TEE?

Explain Adam Smith’s absolute cost advantage theory of trade. 10
weEfee A caoT snTer P gETe s FR =wE g s

ven forma oot arre s g = Al afEe

Group-C
sttt
R
Angswer any one question from the following 2041=20
fFrsfBfre o-com wall e Saw we

B TE WIADT GOV ACLEN]

What is meant by loanable funds? How is the equilibrium rate of interest 4416
determined in the loanable funds theary?
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Distinguish between demand-pull inflation tnd cost-push inflation. 10410
Discuss the effects of inflation on production and income distribution.

sifin Yfefae wErdift om 48 IRl werdifn g e 2|

Seei At W S50 BriE qErifey gew EnEwAl

AT RN ¥ e W GE e B Sasge S
v g Faerer sy it weraar =l TR )

Distinguish between balunce of payment and balance of trade. B+12
“Balance of payment always balances.”— Explain the statement.
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